
(b) ln the above sample of 60 stude tts,2[o/oof them lived withil 2'5 knof the schooi. p;rd *0" @
95o/o confidence interval for the proportion of students from that school who live within
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(c) Data from 10 years ago shows that, at that time, 26% of the stud,ent population lived within

2'5 km of the school. Based on your answer to part ft) is it possiUte to coaclud,e, at the 5yo
level of si8Fificance, that the proportion of students living within 2-5 km of the school has
changed since that time? Explain your aoswer
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(d) A statistician wishes to estimate, with 95% confidence, the proportion of students who live
withinacertaindistanceoftheschoo1.ShewishestobeaCffithin10percentage
points of the true proportion. What is the minimum sample size neeessary for the statisticiaa
to carry out this analysis?
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